Precipitation Reactions

In precipitation reactions, an insoluble product, or precipitate, is formed.  Precipitation reactions usually involve ionic compounds.  Let’s study precipitation reactions by considering the three aqueous solutions shown.  Click on the two solutions you would like to mix, then answer the two questions.  The animation will play after you answer the questions.
If No – “Please review the solubility rules in your textbook.”

If any choices other than AgCl selected “Combine the cation of one salt with the anion of the other and vice versa, and then review the solubility rules in your textbook.”

Ag+ and Cl- ions come together (1:1 ratio) and then move toward bottom of view Con cluster a number of Ag+ and C1- ions together in ordered arrangement.  No+ and NO3 ions just move around solution.
When solutions of 0.1 M [molar] NaCl [sodium chloride, N A C L] and 0.1M [molar] AgNO3 [silver nitrate, A G N O 3] are mixed, silver chloride [A G C L] solid precipitates.  Checking the solubility rules, most chloride ionic compounds are soluble.  However, Ag+ [silver +1] combines with C1-  [chloride] to form AgCl [silver chloride] which is insoluble in water.

When solutions of 0.1 M [molar] AgNO3 [silver nitrate, A G N O 3]and 0.1 M [molar] KOH [potassium hydroxide, K O H] are mixed, silver hydroxide [A G O H] solid precipitates.  Checking the solubility rules, most hydroxide salts are insoluble.  The only soluble hydroxides are alkali metal cations and Ba2+ [barium 2+] ions combined with hydroxide.  For example, NaOH [sodium hydroxide] and Ba(OH)2 [barium hydroxide] are soluble.

